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02 March 2022

March 2022

09 March 2022 16 March 2022 23 March 2022

01:00 PM to 03:00 PM
BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM 10:30 AM 1o 12:30 PM

BANK ONLINE LIVE CLASS 08:00 AM to 10:00 AM BANK ONLINE LIVE CLASS
BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM 08:00 AM 10 10:00 AM

BANK ONLINE LIVE CLASS 07:30 PM to 09:30 PM SSC ONLINE LIVE CLASS

05:30 PM to 07:30 PM SSC ONLINE LIVE CLASS 01:00 PM fo 03:00 PM

SSC ONLINE LIVE CLASS 03:00 PM o 05:00 PM SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

30 March 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM 10 07:30 PM

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM
SSC ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL BILINGUAL BILINGUAL

BANK ONLINE LIVE CLASS

(BANK PO & CLERK)
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a

What value should come in the place of question mark(?)in the following questions.

38% of 6600 + 49 % of 3560 =?

(A)42524  (B)4818.2 (C)4212.4 (D)3711.2 (E)None of these

Class Time :- 9:00 AM
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a

What value should come in the place of question mark(?)in the following questions.

16.67 % of 4430 + 280% of 547 = 60%o of ?

(A)3415.5 (B) 3088.5 (C) 37835 (D)2027.5 (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

3395 + 1544 — 2943 + 2104 = ?

(A) 4150  (B)3100 (C)4100 (D)5100 (E)None of these
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4 N
What value should come in the place of question mark(?)in the following questions.

37778688 — V1444 = 40 x?

(A)1.0 (B)6.7 (C)0.33 (D)1.35 (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

48 x 66 + 52.52 — 43.5 x89.5="7?

(A)2575.25 (B) 2031 (C) 2061 (D)2431 (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

45°—21°=?% of 800

(A)192 (B)188 (C)198 (D)195 (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

172% of 650 — 28%=?

(A)312 (B)322 (C)352 (D)364 (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

143— 46 x 33 = 8x ?

(A)151.75  (B)153.25 (C) 164.50 (D)174.25  (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

21.34 +62.14-41.2+17.6=?

(A)58.88 (B)60.88 (C)57.88 (D)59.88 (E)None of these

Class Time :- 9:00 AM
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4 N
What value should come in the place of question mark(?)in the following questions.

542 + 322 + 3112167 = ?

(A)3463 (B) 3863 (C) 3963 (D)3763 (E)None of these

Class Time :- 9:00 AM
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4 )
What should come at place of the question mark (?) in the following number series ?

11.3,7,23,71,7,521

(A)188 (B)199 (C)210 (D)220 (E)180

Class Time :- 9:00 AM
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4 )
What should come at place of the question mark (?) in the following number series ?

12. 20,6,42,20,7,42

(A)70 (B)72 (C) 62 (D)68 (E) None of these

Class Time :- 9:00 AM
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4 )
What should come at place of the question mark (?) in the following number series ?

13. 1420,1400,720,7?,75,=5

(A)280 (B) 260 (C)220 (D)320 (E)340

Class Time :- 9:00 AM
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4 )
What should come at place of the question mark (?) in the following number series ?

14. 4,11,24,45 ,76,7

(A) 119 (B)132 (C)108 (D)232 (E)106

Class Time :- 9:00 AM
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4 )
What should come at place of the question mark (?) in the following number series ?

15. 1,6, ?,268,4304 ,1377/48

(A)42 (B)40 (C)36 (D)32  (E)35

Class Time :- 9:00 AM
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Directions (Q. 16-20):-Read the following information carefully to answer the questions

asked Number of fruits (apples and mangoes) in thousands sold out from various

methods in a year. & T W& F 3 & & fav Arafaf@d SR 1 &9 @ 9 o av
#F AT ada @ et 9 goRt Bt (@9 3 3me) A FE=m

900
800
700
600
500
400
300
200
100

0

8

800

——Apple

-=-Mangoes

Class Time :- 9:00 AM
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'\ What is the difference between the total number of fruits sold out from A method and the h
total number of fruits sold out from E method?

AR & 99 a7 ®oll A Fo TE&AT 3N AR @ 9T 7T Fat Hr Fo TE7T F I
FT 3T FhdeT &7 °

(A)520000  (B)625000 (C)350000 (D)530000  (E) None of these

900 820
800

700 ﬁ%—\
600
500

\ / 550 ——Apple
400 -.350

420\ / Mangoes
300 -

200 280
100
0

800
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"The number of apple sold out from A method and B method together is what percent of the )
number of mangoes sold out from C method and D method together’? (A%%rommate)

Afafer 3l B q AT 9= v d«t a9 v
maﬁmmﬁmmqﬁam%lmﬁ?(amﬁa)

(A)102%  (B)104% (C)99% (D)78%  (E) None of these

900 820
800

700 ﬁ%—\
600
500

\ / 550 ——Apple
400 - 350

420\ / Mangoes
300 s

200 280
100

800
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‘The number of mangoes sold out from C method Is approximately what percent the total )
number of mangoes sold out from all the method together? . .
cfafr @ a9 arv AT 1 FEan, wsh [ftAt F AaER a9 v A Fr FA =N
T FITHIT fhcrerr gfarera g2
(A)13%  (B)18% (C)15% (D)12%  (E) None of these

900 820 200
800
700 ﬁ%—\
o \480 200
>0 / » 250 ——Apple
400 350
M

200 420\\(/ angoes
200 280
100

0

A B C D E
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4 )
What is the average number of fruits (apples & mangoes) sold out from all the methods
together?

T3l RS ¥ Aa 9 710 wat (@9 3R 39) i 3iaa g9 Faar 82
(A)455000 (B)111000 (C)555000 (D)556000  (E) None of these

900
820 800
800
700 ﬁ%—\
600
480 o0 3%
500 550
/ ——Apple
400 - 350
420 Mangoes

300 \V/
200 280
100

0

A B C D E
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"What is the respective ratio of the total number of apples to the total number of mangoes
sold out from all the method together?

gaft faftrat @ Aot o a0 AT Y For &A1 ¥ &l A Fo FE&AT FT GO

T foreeT §7? °
(A)95:68 (B)17:20 (C) 34:45 (D)45:34  (E) None of these
900 820 200
800
700 ﬁ%—\
oY 480 o0 3%

500
\ / 2=l ——Apple
400 - 350

420\ / Mangoes
300 -

200 280
100
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@ N

Q.21 :- 16 men working 9 hours in a day can finish their work in 28 days. How many men
are required when working 6 hours in a day to finish the same work in 12 days?

6 3CH TF oT H 9 U FH Fd gT 28 &l H 3IYAT FH WcH FT Tohd ¢
wmﬁuﬁmﬁwmﬁ?ﬁtwﬁﬂﬁsaﬁmmmmﬁ

qENT $T ATaRIAFAT gref?
(A)J36  (B)60 (C)56 (D)65  (E) None of these

Class Time :- 9:00 AM
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/Q.ZZ .- Rs 1440 were distributed among A,B,C and D in such a way that C and D together N
gets half of what A and B together gets and C gets one third amount of B. Also D gets 5/3
times as much as C. what is the amount of A?

ABC3IT D& €T 1440 T 30 YR faaRd fFT 10 f&F C3iix DY v AT A
AR B AR 9o @t TfAY 1 3eT g T § 3 cFH B v e
Tfer et 81 @ € DFY CH/ 5/3 AT 3w fRerar 1 AT fRr 7w 82

(A)300 (B)360 (C)420 (D)450  (E) None of these

Class Time :- 9:00 AM
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4 )
Q.23 :- How many cube can be cut of side 3 cm. from the cube of 6 cm?

6 QA & °uaT A ¥ 3 QA o1 A} fFaa €T FIE FT FhA 872
(A)8  (B)6 (C)5 (D)9  (E) None of these

Class Time :- 9:00 AM
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4 N
Q.24 - Perimeter of a square Is decreased by 24% find the percentage change in its area?

Wﬂg‘f#tlﬁmcrﬁﬂ%a?rmﬁané , 3% 89Pd A fhder gfaera aRad«s
g3 87

(A)43.25%  (B)45.24% (C)39.45% (D)47.15%  (E) None of these

Class Time :- 9:00 AM
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¢ Q.25 :- Aman can row a boat upstream at the speed of 8 kmph and downstream at the A
speed of 12 kmph . At what speed he can row Iin st|II water ?

TS EH TF AT ) URT & Uiadhd 8 fhdl ufa ue &Y 1fy ¥ 3tk ar/T &
muﬁ:ﬁqﬁraﬁaﬁrﬂﬁr#%ﬁwm%lwﬁmuﬁ#emmﬁ
TS Il TFhdT 82

(A)25km/h  (B)30km/h  (C)35km/h (D)10km/h  (E) None of these

Class Time :- 9:00 AM
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Directions (Q. 26-30):Direction for Question
Study the following bar graph carefully and answer the questions accordingly.
Following graph gives the demand and production of mobile phones of five companies

A B, C, Dand E
R A6 FT LAIES HETTT X AR 38F I6ER ot F I &1 frafafl@a aw
g H9at A, B, C, D 3 EF AEST BT Y FiIT 3R ScuiesT Y gerar ¥

100
90
80

70
60
50 Production
40 W Demand
30
20
10
0

CIass Time :- 9:00 AM
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4 )
The production of company B Is approximately what percent of the demand?

Sl BHT UG AT T IITHT fhdar gfaera &2

(A)71.4%  (B)85% (C)140% (D)66.67%  (E)None of these

100
90
80
70
60
50
40
30
20
10

70

Production
B Demand

50

A B C D Ctass Time :- 9:00 AM
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-

What is the average production of mobile phones by all the companies?

a3t Fufaat garT Al B F1 Jtad 3cuesT fFaar g7

(A)6200  (B)50000 (C)62000 (D)52000  (E)None of these

100

90
80

70

60

70

50
40
30
20
10

50

Production
B Demand

Class Time :- 9:00 AM
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(The production of mobile phones by company C is the same as the production of which of )
the following pairs of the companies?

a:q:ﬁcaymﬁgwqﬁamm#wﬁ%ﬁmﬁﬁaﬁ#maﬁ?#

(AJAandD (B)BandE (C)Dand E (D) Band A (E)None of these

100
90
80
70
60
50
40
30
20
10

0

70

Production
B Demand

50

A B C D Ctass Time :- 9:00 AM
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4 )
The demand of company E is approximately what percent of the demand of company D?

HYAT EhY HART FYAT DAY AT HT AT fhaar afaera g2
(A)30%  (B)65% (C)83.3% (D)40%  (E)None of these

100
90
80
70
60
50
40
30
20
10

70

Production
B Demand

50

A B C D Ctass Time :- 9:00 AM
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9T AT FY R FIA & [T HYAT T Th
Tedt §1 PEfa@d & @ ST @ FI=T 319

" To meet its demand the company A wishes to buy the surplus mobile phones from a single
company. Which of the following companies can supply?

gl FUel A JTAY HaEaT v @heT

~

o &% @ahdt §72

(A)B (B)C (C)D (D)E  (E)None of these

100

90
80

70

60

70

50
40
30
20
10

0

Production
B Demand

50

A B C D Class Time :- 9:00 AM
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7Fresh fruits contain 75% while dry fruits contain 20% water. If the weight of dry fruits is
300 kg, what was its total weight when it was fresh?

arst ®ell 7 75% SafF @ AT A 20% At gaT &1 IfE q@ AT FT o 300
ﬁwn%,a’rmmg’lﬁwmgqum fhaeT a1?

(A)900  (B)850 (C)920 (D)960  (E)None of these

Class Time :- 9:00 AM
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7At the party there is a total of 120 handshakes. If all the persons shake hands with every
(t)ljtlhﬁer Jgerson. Then find the number of a person present at the party.

Fd 120 g3+ Tl PR T cafea gfed @ e &1 ar ardd
ﬁmﬁﬁawﬁ‘cr%?%ﬁ%mnmaﬁﬁm AR o J

(A)15 (B)16 (C)17 (D)18  (E)None of these

Class Time :- 9:00 AM
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(A person sold an electronic watch at Rs. 96 in such a way that his percentage profitisthe
same as the cost price of the watch. If he sells it at twice the percentage pr oflt of Its previous

percenta%;then find the new selllEérprlce U& cgidd o Udh Soacliae gl §. 96 sﬂ'
Td oTH

gfare FI H{ed & AW gl IfE a8
¢%ﬁm$m$gﬁq‘%@mwm%amﬁm:—qm§@

(A)132 (B)120 (C)123 (D)100  (E)None of these

Class Time :- 9:00 AM
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/Q.36 :-The different between downstream speed and upstream speed is 2 kmph and the A
total time taken during upstream and downstream is 2 hours. What is the upstream speed,

if the downstream and upstream distance are 2 km each? 3TeTqdrg Ifcr TRT

yfasd afd & &g &1 31w 2 fRrel i ger § 3tk ar? & gfded 3R 3evaE &
SR T a1 Fer AT 2 °§T ¥ UNT F iada afa F47 8, A egvane i
URT & Sfaswe g8 93+ 2 fFalt g2

(A)5.2  (B)3.7 (C)2.8 (D)14  (E)CND

Class Time :- 9:00 AM
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Q.37 :-Shikha and Shreya invested in the ratio 7: 8 in a business. They got an annual profit
of Rs 34450. If Shikha withdrew her entire money at the end of 9 months, then what is the
difference between their shares of profit? fr@T 3 AT & T FqAT H 7:8 &
HTUTd A fAaer ATl 378 34450 $UT &7 i o7 g3 Ife ar o 9 7l &
3d A 39T 9 ST a9 o o, dY 39 ot & RN & i FT AT #4182

(A)7570 (B)6400  (C)7560 (D)7150  (E)None of these

Class Time :- 9:00 AM
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Direction (31 to 35 ):-
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03l 1xe=1331 11, yo =1728 N

Q.32 :- . 2x2+x—1=0 Il. 2y? —3y+1=0
Q.33 :- | X2+11x +30=0 1. y2+ 12y +36=0
Q.34 :- l. 6x2+ 51x+ 105=0 Il. 2y? +25y+78 =0

Q.35 :- l.6x + 7y =52 1. 14x + 4y =35
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